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1 2
AB s AB

1 2 3

R R 40
120 80 volts

R R R 60

+
υ = υ ⇒ υ = =

+ +

A@�?������	�A

�����
( )

( )
( )

( )
1 2 L

AB s AB
3 1 2 L

R R // R 20 20 // 40
120 60 volts

R R R // R 20 20 20 // 60

+ +
υ = υ ⇒ υ = =

+ + +

�������%���45:5�]	���
����'�
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������&$�2$3I���� 1R 8 k= Ω )

2R 2 k= Ω ��
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( )2 L
L S L

1 2 3 L

R // R
16 V

R R R // R
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1 2
1 1 2 2 S

1 2

R R
i R i R i

R R
υ = = =

+ ��������������������������������������K2$2XL

5��������*$K2$2XL����������

2
1 S

1 2

R
i i

R R
=

+ ��������������������������������������������������K2$2YL
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1
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1 2

R
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1

1

V   V 9.0 V  6.75V
LE  = 100% = 100% = 25%

V 9.0 V
− −× ×
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V   V 18.0 V  13.5V
LE  = 100% = 100% = 25%
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1

100 mV
I  =  = 4.0 mA

25 Ω
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100 mV
I  =  = 20.0 mA

5 Ω
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TR  = 5  + 25 5  = 9.17Ω Ω Ω Ω
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TL

T

E 100 mV
I  =  =  = 10.91 mA

R 9.17 Ω
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1 1L
1

1

I   I 4.0mA  3.33mA
LE  = 100% = 100% = 16.7%

I 4.0mA

− −× ×

2 2L
2

2

I   I 20.0mA  10.0mA
LE  = 100% = 100% = 50%

I 20.0mA

− −× ×

T TL
T

T

I   I 24.0mA  10.91mA
LE  = 100% = 100% = 54.5%

I 24.0mA

− −× ×
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